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QUESTION 1

Which of the following are valid contract states during a contract\\'s lifecycle? (Choose four.) 

A. Draft 

B. Canceled 

C. Renewed 

D. Extended 

E. Active 

F. Renegotiated 

G. Expired 

Correct Answer: BDFG 

 

QUESTION 2

For a model to be fully normalized, what must be added to the model record? 

A. Version 

B. Owner 

C. Manufacturer 

D. Model number 

Correct Answer: C 

 

QUESTION 3

To access the full spectrum of asset management functionality, which inactive plugins should be installed? (Choose
five.) 

A. Discovery 

B. Cost Management 

C. Procurement 

D. Hardware Asset Management 

E. Data Certification 

F. Service Mapping 
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G. Managed Documents 

Correct Answer: ABDEG 

 

 

QUESTION 4

Stockroom C has seven Bluetooth keyboards with a total value of $630. The asset manager procures two more of the
same model keyboards for $360 and adds them to Stockroom C. When one of these keyboards is consumed, what is
the value of the consumed Bluetooth keyboard? 

A. 110 

B. 180 

C. 63 

D. 90 

Correct Answer: C 

 

QUESTION 5

When does an asset\\'s lifecycle begin? 

A. When an asset request is fulfilled 

B. Upon the asset deployment 

C. When the asset is procured 

D. Upon the asset\\'s request 

Correct Answer: C 
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